ARTIFACT 1 (SAMPLE RESPONSES)

On a piece of notebook paper, prove the following identities.
Part A

Find the identity for tan(a + f3).

tan(a + ) = |
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ARTIFACT 2 (SAMPLE RESPONSES)

On a piece of notebook paper, prove the following identities.

Part B

Find the identity for sin(a - ).

sin ( sm(a+( ,8)
=sm(a)cos( B)+cos(a)sin(-p)
=sm(a)[c s(B J+cos )[—sin(ﬂ)]
=sin(a)cos(f)—cos(a)sin(B)

Part C

Find the identity for cos(a - ).

cos )=cos(a+(-A))

cos(a)cos(—)- sin(a)sin(—ﬂ)
cos(a) [cos ] sin ( )[—sin(ﬁ)]
cos(a)cos(f)+sin(a)sin ()

Part D

Find the identity for tan(a— /).

_ tan(a)+tan(-p)
tan(a - )= 1—tan(e)-tan (-43)

_ tan(a)+[—tan(ﬂ)]
l—tan(a)-[—tan(ﬂ)]
_ tan (o) —tan(f3) U
—
6

1+tan(a)-tan ()
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ARTIFACT 3 (SAMPLE RESPONSES)

On a piece of notebook paper, prove the following identities.
Part E

Find the identity for sin(26).

Part F

Find the identity for cos(26).

cos(20)=cos(0+0)
=cos(@)cos()—sin(0)sin(0)
=cos’ () —sin’(0)

Part F: Challenge

Write two other identities for cos(26) using what you know.

cos’ (8)—sin’(0) = (1 sin® (6 )) sin®(6)

=1-2sin ()

cos’ (8)—sin’ () = cos’ (6’)—(1—cos (9))
20082(9)—1-1-0052(9)
:20052(9)—1
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